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(a) (15,7).

(6) (8,14).

{c) (11,11).

(d) all three of these bundleg,

(¢) none of thege bundles,

3.2 In Problem 3.2, Ambrose has indifference curves with the equation
T2 = coustant — 4:.!:111 / 2, where larger constants correspond to higher indif-

ference curves. If good 1 ig drawn on the horizontal axis and good 2 on

hisg consumption bundle jg (1,6)7

(a) —1/6

(b) —6/1

(c) —2

(d) —7

(e) —1

3.3 In Problem 3.8, Nancy Lerner is taking a course from Profesgor Good-
heart who wij] count only her hest midterm grade and from Professor

Stern who will count only her worst midterm grade. In one of her classes,
Nancy has scores of 50 on her first midterm and 30 o her second




